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Omne of the following is always true

A) Let A and & be square matrices of same size, if 17 is shew
symmeotric, then ir(A + O) = ir(A)

B) For any square matrix A, the matrix 474 - 447 is skew
symumetric

C) Il A is square matrix such that /r{A) =10, then A is skew
symmetric

) IF the matrices AD and B4 are defined, then both A and
I must be square matrices
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Let A be 2 x 2 matrix, if the matrix B results from 4 by
adding 3 times the frst row of A to the second row and the
matrix ' results from A by multiplying the first row of [ by
4, then C' = EE A where

A) E; =
B) E, =
C)E =

D) E; =

E]-:
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Clear my choice
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The solution of the system:
i+vy—24+w=1),
x+2y—z+3w=10,
x4y +z24Tw=I(),
is:
A) (5 4+ 35, —2s. 1, 5) where 5 and | are any real numbers
B) (=2t =hs,1, =24 5) where s and | are any real numbers

C) The system has only the trivial solution

) (=710, =24 ) where f is any real munber
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Consider the following system:
X+y+2z=Db,
X + 2y + 3z = b,
2x + v + 3z = by,

Time left 0:18:41

The system has infinitely many solutions if:

Ay =3b+by=0
B) by +bs=3by =0
C)aby=ba—=by#0

D) 3y =by—=by =0
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One of the following is always true

A) If A is upper trinngular matrix, then A7 = A is symmetric
mntrix

B) If A is square singular matrix, then the system Ax = b,
has no solution

C) If A+ B is symmetric matrix, then both A and 8 are sym-
metric matrices

D) If A is skew symmetric matrix, then A7 is skew symumet-
ric matrix
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. Then by =
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Consider the following system:
X + 2y 4 2z = —8,
2x+ 3y + 17z = —16,
x+ v+ (k*=1)z=2k.
Then the system is inconsistent if:

A) k=—4
B) k=4
C) k + ¥4

D) k#4
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If (A~ + 21T = [ :

ﬁ]. Then ay =
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